Droites Numériques (A)

Complétez cette droite numérique par les nombres manquants.

! ! !
8485 8475

Différence commune:

! ! !
2879

Différence commune:

Différence commune:

| | |
4310 4210

Différence commune:

! ! !
7594 7694

Différence commune:

! ! !
6371 6221

Différence commune:

! ! !
5428 5353

Différence commune:

1
4828

! ! !
1388

Différence commune:

| |
1788 1888

|
2188

Mathslibres.com




Droites Numériques (A) Réponses

Complétez cette droite numérique par les nombres manquants.

! ! !
8485 8480 8475

Différence commune:

| | |
8470 8465 8460
-5

!
8455

|
8450

|
8445

| | |
2859 2869 2879

Différence commune:

| | |
2889 2899 2909
10

|
2919

|
2929

|
2939

| | |
8631 8606 8581

Différence commune:

| | |
8556 8531 8506
-25

|
8481

|
8456

|
8431

| | |
4310 4260 4210

Différence commune:

| | |
4160 4110 4060

-50

|
3960

|
3910

| | |
7494 7594 7694

Différence commune:

| | |
7794 7894 7994
100

|
8194

|
8294

| | |
6371 6296 6221

Différence commune:

| | |
6146 6071 5996
-75

|
5846

|
5771

! ! !
5503 5428 5353

Différence commune:

! ! !
5278 5203 5128

|
4978

-75

!
4903

| | |
1288 1388 1488

| | |
1588 1688 1788

Différence commune:

100

|
1988

|
2088
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